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Aufgabe 1)

a) 26·5m−5m

5m+2 = (26−1)5m

5m+2 = 25
52

= 1

b) (15x2y−3)−4

(25x3y−6)−2 = 15−4x−8y12

25−2x−6y12
=

(
15·15
25

)−2
x−2 = 9−2x−2 = 1

81x2

c) an+2an−1

an−2+2an−3 = an−3a2(a+2)
an−3(a+2)

= a2

d)
(

a2b
cd3

)3

:
(

ab2

c2d2

)4

= a6b3

c3d9
· c8d8

a4b8
= a2c5

b5d

Aufgabe 2)

a) x1 = −1, x2 = −5

b) x = −3

c) Es gibt keine reelle Lösung x.

d) x1 = 3, x2 = −1

e) x = 2

Aufgabe 3)

a) L = (8,∞)

b) L = (1, 3)

c) L = (−∞, 1) ∪ (3,∞)

d) L = (−7,∞)

e) Wegen x3 + 5x2 = x2(x + 5) und x2 ≥ 0 ist die Ungleichung äquivalent zu x = 0 oder
x+ 5 ≥ 0, also L = [−5,∞).



f) L = (0, 4)

g) L = (−∞,−4
3
) ∪ [0,∞)

Aufgabe 4)

9993 = (1000− 1)3 = 1 · 109 · (−1)0 + 3 · 106 · (−1)1 + 3 · 103 · (−1)2 + 1 · (−1)3

= 1 000 000 000− 3 000 000 + 3 000− 1 = 997 002 999.

und analog

10014 = (1000 + 1)4 = 1 004 006 004 001

Aufgabe 5)

a) |x+ 6| =

{
x+ 6, falls x ≥ −6

−x− 6, falls x < −6

b) |2x− 7| =

{
2x− 7, falls x ≥ 7

2

−2x+ 7, falls x < 7
2

c) x+|x|
2

=

{
x, falls x ≥ 0

0, falls x < 0

d) 2 + |2− x|x =

{
2− 2x+ x2, falls x > 2

2 + 2x− x2, falls x ≤ 2

e) |x2 − 2xy + y2| = |(x− y)2| = (x− y)2


